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QUESTION 1

A Machine Learning Specialist is required to build a supervised image-recognition model to identify a cat. The ML
Specialist performs some tests and records the following results for a neural network-based image classifier:

Total number of images available = 1,000 Test set images = 100 (constant test set)

The ML Specialist notices that, in over 75% of the misclassified images, the cats were held upside down by their
owners.

Which techniques can be used by the ML Specialist to improve this specific test error?

A. Increase the training data by adding variation in rotation for training images.

B. Increase the number of epochs for model training.

C. Increase the number of layers for the neural network.

D. Increase the dropout rate for the second-to-last layer.

Correct Answer: A

One of the reasons for poor accuracy could be insufficient data. This can be overcome by image augmentation.

Image augmentation is a technique of increasing the dataset size by processing (mirroring, flipping, rotating,
increasing/decreasing brightness, contrast, color) the images.

https://medium.com/datadriveninvestor/auto-model-tuning-for-keras-on-amazon-sagemaker-plant-seedling-
dataset-7b591334501e

QUESTION 2

A data scientist is training a text classification model by using the Amazon SageMaker built-in BlazingText algorithm.
There are 5 classes in the dataset, with 300 samples for category A, 292 samples for category B, 240 samples for
category C, 258 samples for category D, and 310 samples for category E.

The data scientist shuffles the data and splits off 10% for testing. After training the model, the data scientist generates
confusion matrices for the training and test sets.
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Trainning data confusion matrix

Predicted class
A G D Total
A 270 0 0 0 0 270
% B 3 260 0 0 2 263
© C 0 0 111 100 5 216
S |D 4 3 132 92 1 232
= E 0 0 2 3 274 279
Total 275 263 245 195 282 1260
Test data confusion matrix
Predicted class
A B & D E Total
A 9 1 9 9 9 10
% B 2 25 0 2 0 29
© C 10 2 11 10 1 34
S |D 1 0 12 14 0 27
= E 9 1 4 1 25 40
Total 31 29 27 27 26 140

What could the data scientist conclude form these results?
A. Classes C and D are too similar.

B. The dataset is too small for holdout cross-validation.

C. The data distribution is skewed.

D. The model is overfitting for classes B and E.

Correct Answer: A

QUESTION 3

A Machine Learning Specialist wants to determine the appropriate SageMakerVariantinvocationsPerInstance setting for
an endpoint automatic scaling configuration. The Specialist has performed a load test on a single instance and
determined that peak requests per second (RPS) without service degradation is about 20 RPS. As this is the first
deployment, the Specialist intends to set the invocation safety factor to 0.5.
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Based on the stated parameters and given that the invocations per instance setting is measured on a per-minute basis,
what should the Specialist set as the SageMakerVariantinvocationsPerinstancesetting?

A. 10

B. 30

C. 600

D. 2,400

Correct Answer: C

SageMakerVariantinvocationsPerInstance = (MAX_RPS * SAFETY_FACTOR) * 60 AWS recommended Saf fac =0 .5

https://docs.aws.amazon.com/sagemaker/latest/dg/endpoint-scaling-loadtest.html

QUESTION 4

A data engineer wants to perform exploratory data analysis (EDA) on a petabyte of data. The data engineer does not
want to manage compute resources and wants to pay only for queries that are run. The data engineer must write the
analysis by using Python from a Jupyter notebook.

Which solution will meet these requirements?

A. Use Apache Spark from within Amazon Athena.

B. Use Apache Spark from within Amazon SageMaker.

C. Use Apache Spark from within an Amazon EMR cluster.

D. Use Apache Spark through an integration with Amazon Redshift.

Correct Answer: B

QUESTION 5

A company is using a legacy telephony platform and has several years remaining on its contract. The company wants to
move to AWS and wants to implement the following machine learning features:

1.

Call transcription in multiple languages

2.

Categorization of calls based on the transcript

3.

Detection of the main customer issues in the calls

4,
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Customer sentiment analysis for each line of the transcript, with positive or negative indication and scoring of that
sentiment

Which AWS solution will meet these requirements with the LEAST amount of custom model training?

A. Use Amazon Transcribe to process audio calls to produce transcripts, categorize calls, and detect issues. Use
Amazon Comprehend to analyze sentiment.

B. Use Amazon Transcribe to process audio calls to produce transcripts. Use Amazon Comprehend to categorize calls,
detect issues, and analyze sentiment

C. Use Contact Lens for Amazon Connect to process audio calls to produce transcripts, categorize calls, detect issues,
and analyze sentiment.

D. Use Contact Lens for Amazon Connect to process audio calls to produce transcripts. Use Amazon Comprehend to
categorize calls, detect issues, and analyze sentiment.

Correct Answer: C

https://aws.amazon.com/connect/contact-lens/
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